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Use of lollipop sticks to form wholes

P

Cm.n of Cuisenaire rods and rulers (using
repeated subtraction)

2d divided by 1d using base 10 (no

Children to represent the base 10 and sharing 48+ 4
remainders) SHARING pictorially. 4tens+4=1ten
48 -+ 4 = 12 8 ones = 4 = 2 ones
- 10+2=12
| i
Start with the tens.
Sharing using place value counters. 9 %% 42 +3
42 - 3= 14 . .. [ N )
® o | l Make42. Share the 4 e & ‘ 42=30+12
tens between 3. Can we

©] make an exchange with ® ® ¢ ¢ 30-3:-10

m the extra 10? ® & 66
o Exchange the ten for ®ee oo R
0) 10 ones and share out 10+4=14
o) leloYo) 12 ones -




done using sharing!
615+5

of 5

Use of the 'bus stop method’ using
grouping and counters. Key language for
grouping- how many groups of X can we
make with X hundreds'- this can also be

°  Step 1: make 615

T 1 o— Step 2: Circle your

88 [ |38  groupsof5
0 ®
—————— Step 3: Exchange 1H for
o9 mw@ S 10T and circle groups of
°© 85¢° 5
000

ww Mmo unai Step 4: exchange 1T for
® 1825282 10ones and circles groups

__@o 260

a remainder!

This can easily be represented pictorially, till
the children no longer to do it.
It can also be done to decimal places if you have

51615

Fluency variation, different ways to ask children to solve 615 + 5:

Using the part whole model
below, how can you divide 615

method?

@
HEW

by 5 without using the 'bus stop’

I have £615 and share it equally
between 5 bank accounts. How
much will be in each account?

615 pupils need to be put into 5
groups. How many will be in each
group?

5

615 +

615

5=

=615+5

How many 5's go into 615?

What's the calculation? What's
the answer?

LT L
®e® |0 (0@
oo 9O oon
.. 0O @

® |oooees
| ©0 000




Long division

| % have? None

Exchange 2 thousand for
20 hundreds.

How many groups of
~ 12 are in 25
200 o.. ® wwﬁ
%MM = rmz&am&u 2 groups.
. 8000 . Circle them.
We have grouped 24 hundreds so can take
them off and we are left with one.

i.@@@@ 0& ®

O T Exchange the
.ﬁmﬂ%.. oo 12[254s One hundred
“060 m - NI?I for ten tens so
2506 @qo 12 now we have 14

tens. How many
m_..o:nm of 12 are in 14? 1 remainder 2.

J @ew@ _mmmwmm Exchange the two tens for
L%e bolses twenty ones so now we have

N%%%ﬂ_e 0828 24 ones. How many groups

%% of 12 arein 242 2

Concrete Pictorial Abstract
g T 2544 + 12 Children to represent the counters, pictorially Step one- exchange 2
sesavoTes 25% Howmany groups of | and record the subtractions beneath. 0 thousand for 20 hundreds
i g e 'e® "I 12 thousands do we HN_ 2544  so we now have 25

hundreds.

Step two- How many groups
of 12 can I make with 25
hundreds? The 24 shows the
24 hundreds we have grouped.
1 The one is how many
hundreds we have left.

Exchange the one hundred
for 10 tens. How many

24 groups of 12 can I make
1 with 14 tens?
3 The 14 shows how many tens

I have, the 12 is how many I
grouped and the 2 is how many tens I have
left.

02 HNN Exchange the 2 tens for 20
12 wwa ones. The 24 is how many ones

12 I have grouped and the 0 is

12  what I have left.

24
24
0







